(ysameT

accessories

[

=

; \‘&\\\m\\\.—‘s (11},




accessories

A Fix Connecting Fitting

Two pieced connecting

o . ; Description Colour Code
s fitting that is used for
! assembling cabinets inner Samet A Fix Connecting Fitting Brown 108601
b |
”:v sheff SyStemS_' Samet A Fix Connecting Fitting White 108602
e Case: Plastic
e Screw: Steel Samet A Fix Connecting Fitting Black 108603
Samet A Fix Connecting Fitting Almond 108604
Metal Connecting Fitting
Connecting metal screw
) L Description Code
(o) that is used for joining two
or more chipboards to Metal Connection Screw - @5 / 28-36mm 107051
each other. Fitting 5mm
diameter.
=
Sockets
Au>.<|||ary pieces helping BesCTintion Code
various bolts to be screwed
N tightly without damaging Sam-fix Channelled Dia M6 x 8 x10 PLS Chain dowl = 1080031
N £
)
Ly the wooden parts. Sam-fix Channelled Dia M6 x 8 x12 PLS Chain dowl = 1080032
N e

)% e \aterials: Plastic Sam-fix Channelled Dia M6 x 10 x10 PLS Chain dowl 1080033

Sam-fix Channelled Dia M6 x 10 x12 PLS Chain dowl 1080034

Sam-fix Connecting Fittings

Cams and dowels used for

. ) . Description Code
connecting furniture units.

Samet Sam-fix Bolt M6 Steel 34mm Mill 10800211

Samet Sam-fix Bolt Euro screw 6,3 Steel 34 Mill 10800231

Samet Sam-fix Bolt Euro screw 6,3 Steel 24 Mill 1080026
Samet Sam-fix Bolt M6 Steel 24mm Mill 1080027
Samet Sam-fix Cam Dia 15 x 12 Zinc 10800131
Samet Sam-fix Cam Dia 15 x 13.2 Zinc 10800141

X1 sameT



block and leg sets (9sameT

Specifications |

e Height adjustable plinth leg
e Blocks are available in screw on or doweled options
e Wide foot diameter 80mm
e Height adjustment is easy to operate, either manually
or by using a screwdriver
e Adjustment 95mm-165mm 1. Block
2. Leg Stem
3. Foot Base
* Screw on version 4. Plinth Clip

1 _2_3_4 Block & Leg Set with Plinth Clip 1 _2_3 Block & Leg Set without Plinth Clip

Packaging Packaging

Material Colour Code Material Colour Code
Type Type
Screw on 1 Set Black 5000000 Screw on 1 Set Black = 5000002
Dowel 1 Set Black 5000001 Dowel 1 Set Black = 5000003
1 Block 2 Leg Stem 3 Foot Base
Description Feheglig Colour Code Description Py Colour Code Description i Colour Code
Type Type Type
Screw on Block Each Black 101100 Leg Stem Each Black 101102 Foot Base Each Black 101103
Doweled Block Each Black 101101
4 Plinth Clip
Description Pa(_:rkaglng Colour Code
ype
Plinth Clip Each Black 101104

SamerT X2





